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DIRECTIONS: (Question No. 1 to 6) These questions are based Fa%r: (¥ @@ 1 & 6) Frfafae we s w3 RA g gemoil
on the information given in the following graph. a7 aarfE &

Number of students studying various disciplines in an
institute during the year 2004 & 2005.

Total number of students in
the year 2004 = 1800.

Total number of students
in the year 2005 = 2200.

In which discipline the number of students increased 1,

in the year 2005 as compared to the year 2004 despite
the fact that the percentage of candidates decreased in
the year 2005 as compared to the year 2004:

(1) Agriculture
(2) Medicine
(3) Engineering
(4) Management

The number of students in 2005 in disciplines
agriculture, medicine and management together is
what percent of commerce discipline of 2005:

S o) BI%
(2) 66.67%
(3) 50%
4) 10%

Approx 34% increase of students in the year 2005
denotes which discipline:

(1) Commerce
(3) Management

(2) Arts
(4) Engineering

What is the percentage increase/decrease (rounded off
to nearest two integers) in number of students
studying science from the year 2004 to 2005:

(2) 27% decrease
(4) 21% decrease

(1) 27% increase
(3) 21% increase

In how many disciplines the number of students
decreased in the year 2005 as compared to 2004:

(1 2 (2) 4

(3 3 (4) None of these

What is the ratio between number of students studying
agriculture in years 2004 & 2005 respectively:

(1) 11:12 (2) 12:11

(3) 43 (4) None of these

nrcxs [ B-1]

ad 2004 Td 2005 B I T Heaw ¥ R Rt
W HEgE Rt @ e

af 2004 ¥ faenfeit & F@
& = 1800.

T 2005 ¥ Renfidt #
T e = 2200.

o fenamen § ad 2004 F gaew F af 2005 7 Rkt
% don 7 iz g T @ @ aE B ad 2005 F o
2004 P o ¥ R &1 s e

) I #

)

(3) FfEiEE

(4) yET

7§ 2005 ¥ Remawen W, oiufy @ yEEw ¥ @@ @@
Pt Rafi @ e ad 2005 @ @iy R &
R sftea 2

(1) 33.33%

A ISR I AT b Gr e

(3) 50% -

(4) 10%

af 2005 ¥ Raiidl ¥ @ 34% gRs Rew Remawn
waldlfa s &
(1) aforon (2) =

(3) W (4) st

fe 92} I Renfdl @ den F af 2004 @ 2005 ¥
gﬁmmmmwﬁ%mm%W)w
(1) 27% 3=
(3) 21% &

af 2004 3 gem § af 2005 F R Renawaet #
il 2 wen =
(™) 2
3) 3

(2) 27% Fi
4) 21%

2) 4

) 4 A 3

o 2004 T& 2005 ¥ HHE: BN T JwE @ Raffd @
wey Frgu @ 87

(1) 11:12
(3) 43

2) 12:11
(4) T4 ¥ P
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20 men can finish a work in 30 days. On completion ‘of
10 days, 10 men leave work. Remaining men work for
next 10 days. At the end of 20 days it is decided to
complete the work in remaining 10 days. How many

7. iR sdRpRATIFTAHORARNS
aw, 10 &s 1 BIEHT T 99 ¥ T 92 AfE 9 10
7 o Fd F@ T 20 B Y guiy ax 7@ Fofg R s
& R e w92 10 R A g e s R

extra men are required: st afedl 3 smawE e
(1) 20 ; () 20
@ 25 @ 25
€ @3 15
o 19 @) 10
8. Sunita and Sumedha start travelling in the same 8. Uil td ghel H9M: Toan 8 R, e o 13 Frh.
direction at 8 km/hr and 13 km/hr respectively. After 4 s 7T O A1 I B § 4 92 R o Te
hours, Sunita doubled her speed and Sumedha reduced =@ gt & 3 ¥ @ g IFR ww 1 Rl s B
her speed by 1 km/hr and reached the destination ﬁmtqﬂw“@mqgamh@qmﬁm
together. How long did the entire journey last? ]9 T
(1) 10 hours @ 10 &
(2) 13 hours @ 13 e
(3) 11 hours ;
(3) 11 82
(4) 9 hours T
DIRECTIONS: (Question No. 9 0 12) Study the following Feer: (Fe &em 9 & 12) 7 foeh gl @1 @Fgds w2 o
information carefully to answer these questions— 2 9 B I 4
Seven candidates Hema, Seema, Neeraj, Sheela, Neelam, am gl 2w, e, A, o, Sew, gEe ek gfva,
Pawan and Sunita are to be interviewed for selection as FEF-IF FHFET T, U VW, X, Y @ Z, & §IF eI
a{f-" trainee officers by different panels | to VIl for different 90 | 8 VI, 3 &% 38 %4 B @ oed T g, § i
oompamesT U}W X}aﬂdz.notmlymﬁe S & T 3 B e A
g . o TV ZT T SRR B SR A i
,%9 j is interviewed by panel IV for com| Seema mimmﬁ?&%%Mv@vwé%ﬁ
interviewed by panel Il but net for comw__‘! or W
,qug ) A6 B B TR F @ g R S R v
ﬂ,u Hema is interviewed for z:ompan_!_u_g.ﬂgt__by panel For B PN e el X
L IIl. Neelam is interviewed by panel Vi for company. ‘X' a &7 ! | ’ Vi @
e i L e YR e B WY 3R T B T VI TR Y & R aRiee S
ﬁ_f interviewed by panel 1 but not for company 'V'. Panel I w7 ¥ ST B ERRER Y | B @ A B AR w
\ ‘x,u,'hdoesm(.memewpm = . V' E R T R E T e S 11 e ST B
> /j’ 9. Which candidate is interviewed by panel V? 9, @-wr w=dl T v / wmaeH R ar?
=T ovam ()
| (2) Sheela ) diar
| (3) Hema (3) &
' {4) Sunita (4) g
10. Who is interviewed for company Z? 10. TR T Z 3 o armeer e ar?
. (1) Pawan (1) &=
(2) Neelam (2) ™
(3) Seema (3) d@r
(4) Sheela () e
11. Panel Il conducts interview for which company? 1. ¥ 1 3 Rw w9 3 fg e deer R ar?
1) z @ Vv () z (2 V
3 Y 4) v 3) Y (4) U
12. Sheela is interviewed for which company? 12. s 3 Fem et @ Rig s Rar
MmT (2) W M T (2) W
3) Z @)Y (3) Z @Y

nFexs [ B-2] PAPER -1[287442]



13.

14.

15.

16.

It is simulated/extended RAM. When you have used up
your entire RAM, your computer will shift data to an
empty space on the hard drive:

(1) ROM

(2) Memory

(3) Virtual Memory
(4) Volatile Memory

Exercise Ajeya Warrior-2015 is joint exercise between
the Armies of:

(1) India & France
(2) India & Nepal

(3) India & UK

(4) India & Sri Lanka

How many four digit numbers can be formed using the
digits 0, 1, 2, 3, 4, 5 if repetition of digits is allowed?

(1) 1296 (2) 1080
(3) 1800 (4) 1190

A metal sheet 27 cm long, 8 cm bfoad and 1 cm thick
is melted into a cube. The difference between the
surface area of the two solids, is:

(1) 280 cm

(2) 272 cm?
(3) 286 cm’ 23

(4) 290 cm? ZC"’H”'“"O

263 X8)

Tamilnadu

ently put into opera

(2) Kerala
(4) Kainataka

(3) Gujarat

18. _Kayakalp Award scheme has been launched by:

19.

20.

(1) The Ministry of Agriculture

(2) The Ministry of Industry

(3) The Ministry of Health & Family Welfare
(4) Namami Gange Programme

Instrument for measuring the amount of oxygen in the
air or for analyzing gases:

(1) Audiometer
(2) Eudiometer
(3) Glycometer
(4) Fathometer

Which of the following statement is wrong:

(1) During a solstice there are unequal days and nights

(2) Agulfis alarge area of sea partly surrounded by land

(3) A harbour is that portion of sea where ships can dock

(4) Neap tide is caused by gravitational pull of the moon
and the sun together in the same direction

NrFexs [ B-3 ]

18.

19.

75 RA2S/GAe28 RAM B 7@ o 07 &9 RA
P yavr 3¢ Ren 3, A e FgE St B oE-gEE 3
el ®mEl 1 R B

(1) ROM

2 wf

(3) T

(4) st w5

A Y ARAT-2015 B 2 AN B qA HYH AW
&

(1) =T T HE

(2) Wa o AU

(3) W@ W@ 3.3.

(4) WA T@ e

3% 0,1, 2,3,4,5 B W B 9K S e B deand
T o1 wHd & ARk st A FrEhy B oy &2

(1) 1296 (2) 1080

(3) 1800 (4) 1180

. 27 At =, 8 F. A v 1 i N @ Ay A AT

TR o9 A gRakia & 6 D S B 99 3 7S e
@ a9 oAt &

(1) 280 @’

@) 272 T2

(3) 286 .2

(4) 290 &2

17. hﬁma@mmmmmﬁaﬁtmaﬁ

P R RN S .

(1) RS @2y @@ s .

(3) I (4) FieH

TG AT Ao A & A B R &

(1) I HEwE

(2) FET A=

(3) @ U4 qRar HAw qA0d

(4) EmE T G

mﬁm@mmﬁﬁ%m%miﬁm
IUHT

(1) anfdndes

(2) gREAHE

(3) LR

(4) derfeT

. Pl & @ @9 F99 W &

(1) o & AR R o T e A

(2) @E W% F e FLT AT AT A ARE T F A
z ey gam B 8

) aézag:wasmém%mmmaéiﬁ%

(4) @ w-wE GeE AR gl @ @ g @ R A
TG RiTd & &0 39 A &
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21.

22.

23.

24.

25.

H
S
L
28.

. In a certain

The circuit used to store one bit of data is known as:

(1) Register (2) Encoder
(3) Decoder (4) Flip flop

In a database table, the category of information is
called:

(1) Tuple
(3) Record

(2) Field
(4) Attribute
Who is credited with the discovery of Electron?

(1) E. Goldstein
(3) James Chadwick

(2) J.J. Thompsor—
(4) Rutherford

In which one of the following Union Territories, do the
people of the onge tribe live?

(1) Andaman and Nicobar Island
(2) Daman and Diu

(3) Dadar and Nagar Haveli

(4) Lakshadweep

A man starts walk from the point and walked 12 kms
towards North. He turmed 90° left and walked a
distance and stopped. If the distance between initial
point and final position is 13 kms, how much distance
he travelled after turning from North?

(1) 3kms (2) 4kms
(@) Skms @) 6kms

e QEAMLINE is written as

BFSUTDMHKL™ ?;u is @ENTIR;M in that

code? CY

(1) OFJDTBHEHS
(3) OFJTBDHESH

(2) OFJDTDJBI
(4) OFJDTDGIUT

The income of Anil, Firoz and Ketan are in the ratio
7:9:12 and their spending are in the ratio 8:8:15. If Anil

saves 1/4 of his Income, then the saving of Anil, Firoz
and Ketan are in the ratio:

(1) 59:99:69 2) 56:99:69
(3) 56:96:68 (4) None of these
Pick the odd one out. 2
e Z
(1) 16:40 e S @ 2050 =
(3) 22:55 _,:,_ WZ:ZB {’

DIRECTIONS: In '?he following question a number series is
given. After the series a number is given followed by (a), (b). (),

21.

22

23.

24.

25,

26.

27.

28.

e Frefetad

m%@hﬁ@ﬂumﬁ%hﬂmmtc

(1) W (2) B
(3) fpres (4) RRT9-oTT

mmamﬂamm&

(1) o (2) B
@) fard (4) eI

ﬁaﬂaﬂ@aﬂhmmk?
(1) %, MeseA (2) 1.3, 98T
(3) S A=l (4) W

mmmaammsmm&
(1) e @ PR A7 ' F

(@) = @ 2

(3) T @ TR FE

(4) WM

@aﬁﬁwﬁg%mﬂ%phﬁl.maﬁmﬂ
oo 31 78 90° A A TE AIHT T TN T B & A
Qlﬂﬁmﬁﬁﬁﬁﬂﬂﬁﬂ{ﬂﬂ%.‘ﬁ.i,ﬁﬂ
T A S R B aw R g0 7 R

(1) 3 B (2) 4 B

(3 5 AL (4) 6 AL

Rt Pt #te 1 STREAMLINE St BFSUTDMHKL fRrar
o B 3@ @ # SCIENTIFIC & &8 frsn T

(1) OFJDTBHEHS (2) OFJDTDIGIU
(3) OFJTBDHESH (4) OFJDTDGJUT .

Fw, B sﬂ‘f'%ﬁﬂmmnz%mit@
o G 8:0:18 au A% AR SV R A AN
mtﬁtmﬁa%ﬂqqﬁ%ﬂﬂﬂhﬂmﬁﬂ%

(1) 59:99:69 (2) 56:99:69
(3) 56:96:69 @) T & % @

P & @ ardi @ g

(1) 16:40 (2) 20:50
(3) 22:55 (4) 12:28

oo # o den guE A H 3 e d W

o ger & T ¥ PR 9E@N (), (). (©). (d) o (e) R m

(d) and (e). You have to complete the series starting with the Tl @ 1 o dEm @ 90N W ot HET E3
number given following the sequence of the given series and @ F FTFHT F& & o & IR FHEE I 9 B
answer the question given below the series. g% 4 R o gEe F AR = 3
29. §3%6 2 6 3 tem # % 3 10 26 B3 336 1683

7 (@ (b () @ (@ 29 7 ) )€ @ (o

What will come in place of (b) ) 3 ®E I I

(1) 32 (2) 30 (1) 32 (2) 30

(3) 34 (4) None of these (3) 34 (4) T a4 g T

neexs [B—4] PAPER -1[287442]
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3.

32.

™ k

S M

- o T T 5
‘\ﬂﬁﬁms Complele the oee B i

Fréw: mmmﬁﬁmﬁwﬁ?fﬁ
33. Question figure (S amf)

When the office of the Chief Justice of India is vacant
or when the chief justice is by reason of absence or
otherwise unable to perform the duties of his office,
Who shall have the authority to appoint acting chief
justice as per Article 126 the constitution of India?

(1) The Registrar General of supreme Court

(2) The President of India

(3) Automatic appointment of the Senior most Judge of
the supreme Court as acting chief Justice

(4) The Attorney General of India

Select the suitable alternative to satisfy the relationship.
Arctic : Antarctic : : Cancer:

(1) Disease (2) Capricorn

(3) Population (4) Equator

All A”® are B"® and all B® are C™* is best represented by
which diagram:

®
© @B
i e

(2 L
(4) N

30.

31.

32.

S A B e AR & 9% ww e @ s o ey
SRR AT 77 5t 9l FvEw ST
3 sl $1 frees 0 & orewd B 8, @ AR wieE
3 DT 126 3 AP FEAEF T&F AR Py FA
& Wit f5R W Bt 8?7

(1) Hdea =g & WrgR S

(2) Wi B TEER

(3) wiea = 3 waEA A A # e

Frafern
(4) 9T B AT T

Tl B g FO AW @8 e B g
S o : e g ;R

(1) AT (2) 7FT

(3) s (4) T @

ot ‘A’ ‘B’ ¥ T @ ‘B’ ‘C’ ¥ # walew sl R
e @ Ren o0 e @

K L
c A

© 0 €

M N

(1) K (2) L

(OR (4 N

RN Soneia At -

Answer figure (W IR

?;—* aﬁ;—@ +€— +

—@ L!}—>A * .

+2 +
T )

+(:_;+ +
+\»\=_-t+

0]

) @

DIRECTIONS: Select the suitable alternative to satisfy the relationship in the following question.
Fte: Frefifem v & o7 ol @1 g F0 A qE R & g &

34. Question figure (W& 3THRY)

Answer figure (I 3TgR)

=<

S + + +

+ + +

a3 [

DIRECTIONS: Complete the Series in the following figures.

(]

2 @)

P P R & o @ of &4
35. Question figure (¥ 3TRY) Answer figure (m\cﬁgﬁ'{) ,
I ém NEWT o o b{o NO o
12 < ? 8 9 11 6
o Seid A 4, o volo YOO wolOw
(1) @7 @
Nrexs [B-5 ] PAPER - 1[287442]



S

36.

37.

39.

40.
41.

42.

r

in the second half of the row?
} B masdyte BRG]
) ‘2 g 6 4 (3) 15
. <t 1%
d= l43. “The State shall endeavor rovide early childhood
care and education of all children un te

Shah Jahan fought the battle of Kartapur against-

(2) Guru Har Kishan
(4) Guru Teg Bahadur

(1) Guru Hargovind singh
(3) Guru Har Rai
The Chilka lake region is situated between the deltas of:

(2) Godavari and Krishna
(4) Mahanadi and Godavari

(1) Krishna and Kaveri
(3) Gangaand Mahanadi

Dr. APJ Abdul Kalam Collapsed only § minutes into his
lecture at IIM, Shillong. Name this lecture.

(1) Creating a livable planet earth

(2) Ignited minds

(3) Forge your future

(4) Transforming dreams into actions

92 me\n\and 18 boys working 7—; hours a day can do a

work in 80 days. If one man works equal to 2 boys, then
the number of boys required to help 21 men to do twice
the work in 50 days working 9 hours a day will be:

(1) 42 (2) 44

(3) 46 (4) None of these

A sum of Rs. 8000 generates Rs. 1261 as compound
interest in 3 years, interest being compounded
annually. The rate of compound interest is:

(1) /20% (2) 2.5%
(3) 10% (4) 5%

SMTP stands for:

(1) Simple Mail Transfer Protocol

(2) Structured mail Transfer Protocol

(3) Simple Message Transmission Protocol
(4) Simple Message truncated Protocaol

In a row of 36 pupils, the first boy is f_olpvygq_bx one
_qirl, the second boy is followed by 2 girls, the third by
3 girls and so on like this. What is the number of girls

(4) 18
<

the age of six years”. This is a provision under:
(1) Article 21A of the constitution of India relating to
fundamental right enumerated in part I1l.

(2) Adicle&m,[elaﬁng to Fundamental duties enumerated

in Part IV A of The Constitution of India

Aticle 45 relating to directive principles of state policy
enumerated in part IV of the constitution of India
Article 38 of the directive principles of State policy to
secure a social order for the promotion of welfare of
the people

)
Q)

36.

38.

39.

40.

41.

42.

43.

neoxs[B-6]

e 3 Felge W g% Fees frew e

() & Fiae () & #e
(3) T& BT @ (4) TE TG
et @ B P 2w @ Wt e ¥
(1) Fn @ FEd (2) TreEd &
(3) T o (4) TEFE Td e

ﬂﬁ.ﬂﬁ.@.ﬁﬁhﬂmﬁg&aﬁ%msm%
maﬂ.q.@.ﬁ.mmmwﬁmaimﬁ
w;mmrﬂmm:

(1) Creating a livable planet earth

(2) Ignited minds

(3) Forge your future

(4) Transforming dreams into actions

12 ge @ 18 gD SR 7 2 gt B Rl B B

eoﬂq#wmﬁ%mﬁ@mﬁﬁﬁmﬁ%mm
m%,ﬁgﬁﬂﬂsd%mwﬂsomﬂ{n
mstmmmamwamqw

(1) 42 (2) 44
(3) 46 (4) T & B T
=, 8000/ 3 @@ ¥ PP @ & 1264/~ FRfa T B

muﬁdmﬁmémwwtammaﬁ
W

(1) 20% U ) 25%
(3) 10% (4) 5%
SMTP &1 faeaita &9 & P

(1) Simple Mail Transfer Protocol

(2) Structured mail Transfer Protacol

(7) Simple Message Transmission Protocol
(4) Simple Message truncated Protocaol

36M%@mimaﬁ%m@wﬁm
mmsma@mﬁ,mmsmsm@
wmmﬁsﬁnm%maiimaﬁmw
¥

(1) 16 (3) 15

“W,Maﬁﬂiﬁm«q&%szﬂﬂmgaﬂmm
%&,m%mﬁwmﬂh—h@hmmwmm
e Reed arwria 3

(1)mﬁﬁm%m-m$m2mﬁaﬁam
s § F
st 51 affa

2) ardm dReE & WV A B
Ao afmR § FEraa

() muﬁﬁum%qm—lv?nwgz@zuﬁaﬁama
Sy e Rl @

(4) mﬁmﬁ%mﬁaaﬁaﬁam%ﬂﬁrﬁim
m@mﬁt%maﬁmq&weﬁgﬁwm
& f

@ 14 (@) 18
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oy <9 —&F-

“lsﬁ (Tvu;r‘ 9 q(sm)z _9 _(one)?
(Five)? 168’ (Seven)2 25’ (Hundred)?
'S 25 9 9
o F (2)L ; P,
The ﬁ ;% the length and breadth of a
rectangle is 23 m. If its perimeter is 208 m, then its area
£ z_@+s) =206

(2) 2480 m?
(3) 2420 mz utb = < /o3 (4) None of these

E 46. Chronologically arrange the visits of following
| -} < 2% pilgrims/ historical personalities to India:
4/b= |p2 A. ThomasRoe B. Fa Hien

——————(1) BCA @ BAC
,(slz.é (3) CAB (4) ABC

C. Huen Tsang

< 4 537 An insect flies from the corner A to corner B of a cubic

- room in 4 seconds where A & B are diagonally
@ opposite corners. The side of the room_is 4 m. The

‘B p(1)}—~3Ti/sec (2) 2V3 ml, 2
> (3) V2 misec S @ 2@mise n
—

0 D 48. This area is termed as territorial water an

therein belonging to the nation:

(1) Oceanic area upto 12 nautical miles from the coast
{2) Oceanic area upto 19.2 nautical miles from the coast

Oceanic area upto 15 nautical miles from the coast
Oceanic area upto 20 nautical miles from the coast

}r(

8
49. Output at Break Even point is that output at which

{6)& 5;‘ producer is able to:

F;Ft 1(3) Wipe out earlier losses

2
y’ s B (4) Recover total costs le *b = HL

DIRECTIONS: In the following question, each question is
followed by two statements labeled | and Il in which certain data
is given. You have to decide whether the data given in the
statements are sufficient to answer the question. Using the data
given together with your everyday knowledge, choose.

1) Recover only operating cost
' Qg1

If statements | alone is sufficient but statement Il alone
| is not sufficient to answer the question.

B. If statement Il alone is sufficient but statement | alone
is not sufficient to answer the question.

C. If both statement | and |l together are sufficient to
answer bul neither statement alone is sufficient to
answer the question.

D. If | & |l together are not sufficient to answer the

question and additional information is required?

aa, o Qwo? 9 “Timifl 8 0 one
(Five* 16’ (Seven)? 25 (Hundred)?
mE @7 O @

45. % JEa B wen AN AeE B e g 23 Wex B aR
T afedt 206 Hex B, @ gEH Aawa B

(1) 2520 m? (2) 2480 m*
(3) 2420m? (4) T & B¢ T

45, friefe dd-aREl AReRe afrdl @ 9xg s &)
FIAR T

A gmg T B. wifta C. =@/ @
(1) BCA (2) BAC
(3 CAB (4) ABC

47. 03 T @ TG FR D IR A A BIR B B e 4
¥z ¥ gzar ¥ @I A w9 B Rl wv @ Roda AR
Bl F A g 4 AT B DR D A ¥

(2) 2¥3 misec
(4) 2¥2 misec

(1) V3 mfsec
(3) V2 mssec

48, wﬁa,iamhmmtwmmwa
e #

) W @ § 12 AfeFw dw wemig & 5
(2) "5z e § 192 HeFw e TEHrHE 8 7
@) 7 9e & 16 e i TEErT & T
(4) s ae A 20 AR Hia TBEANE 355

49, mhﬁmmaﬁmﬂm%m«m
woel S @

(1) & S al ot aee & e
2) T THEL AW FaA

3) yﬁmﬁﬁaﬂrmmﬁ

(4) F@ @R F g FH A

e frefafed se7 & o & am @ 399 | 9 1 38 sifper
afea R % onwEl 2@ P @ ¥ B own s § Ro o
FFS g B 9N A & T wata B2 Ru g siwEl @ o
T AT T F AT HW Y T G
A ot FU | F9w wim F AR 9T 1 @ W &
I 2 3 R wafe T4 2
B IR #F I aad ww § AR F | ode 9
T A B frg w9 2
C. 3R A %9 | W@ || T 99 I9¥ 27 3 Rig o ¥
AT B A T 9B I 2N B R wala 4 ¥
D. R | T || UF 9 W F T 3% @ o wae @ ¥
o s Al # sew b

50. Whatis Z? 50. Z® A &
I 3x+45+5z = 120 Il 4x+72+3y =130 I 3x+45+5z =120 Il 4x+72+3y =130
1 A (2 B 3) C 4 D (1) A (2) B 3 C 4 D
B +x T IS
yest Nrexs [ B-7 ] PAPER - | [287442]




51.

52.

DIRECTIONS: There are

T——

Bootstrap Loader is always stored in:

(1) ROM (2) RAM
(3) Disk - (4) Cache

If any question arises as to whether a member of
Parliament has become  subject to any
disqualifications mentioned in clause (1) of article 102,
the question shall be referred for decision to the .........
and decision of the ......... shall be final;

(1) Speaker of the house _(2)—Supreme Court of India
(3) President of India (4) Election Commission of India

four diagrams shown below

representing relationships between groups. In the question that
follow, select the diagram that best represents the relationship
for the question.

53.

55.

57.

M=K
« GOD > (@

Organisation, managers, forests:

(1) A 2 B 3) C @) D
Match List| with List Il :

Books ( List1) Authors ( List 1)

A. Kadambari 1. R. K Narain

B. Kamayani Munshi Prem Chand
C. The Guide 3. Bana Bhatt

D. Goda - 4. Jai Shankar Prasad
(1)_A4,83,C1, 02 (2)_A1,B3,C4,02

(3) A3,B4,C1,D2 (4) A2,B4,C1,D3

Choose the missing last three letters from the
alternatives which are common of ali the six |atters.

e

(2) OIL

STIQ®wTO

(1) NAD (3) AVE  (4) INO

Name the committee on restructuring of FCI:

(1) M.B. Shah Committee (2) Panagahria Commitiee
(3) Kelkar Committee (4) Shanta Kumar Committee

What causes beri beri?

(1) Lack of vitamin D
(3) Lack of vitamin 81_

(2) Lack of vitamin A
(4) Lack of calcium

. Which one of the following minerals is contained in the

Monazite sand of Kerala?
(2) Thorium
(4) Petroleum

(1) Uranium
(3) Copper

nrexs [ B-8]

51.

e dvst wka P 7 steii T B:

(1) ROM (2) RAM
(3) Disk (4) Cache

. v® B 18 U Sodl ¢ b 0% qieE ageT 102 3 Fl

() & arwrla affa srramstt & adie 8 s § & 58w

o folg a9 @ ferdl ... 1w e sien @ . &l
frefg sifem g e\

(1) W& % BES (2) 9d 3 wdted A
(3) Wa F T (4) WA F A A

P Fad 3 7w g Telt A A e R i wm E

ﬁmrumﬁa«mfaairgﬁﬁtmsmﬂm
Iuge w1 & s w3

53.

55.

57.

58.

.
@

N
. azD

Hod, A, S

(1) A (2 B (e (4) D

ghhea gl 1 d gk BT

el (fear) -1 ()

A FEEd 1. WX %, A

B. TR, 2. ghame=

c TmEs 3. & Ag

D. & 4. 5 9T HEE e
(1) .A4,B3,C1,D2 (2)_ A1, B3, C4, D2 .
(3) A3,B4,C1,D2 (4) A2,B4,C1,D3

mammmmﬂﬁgﬁmm:: st

@

°

& ~
s

G

H

w

(1) NAD (2) OIL (3) AVE  (4) INO
oh. o, 3 e A FAE @ aw
(1) A T FE (2) geiear FE

(3) FHT FA (4) AT FR TG
FR-TH T T PROT B B?

(1) fafe D # # 0 (2) Fefm A #:
(3) faaf B1 & (4) Bfoerm 1 I

P # @ a9-0 @i 3@ 3 aNeRe @ & T
S 3

(1) gtam

(3) aH

(2) aiftam
(4) Tiferm

PAPER -1[287442]



t 59. In a college, fifteen students of a class are the members of

JKG Tennis Academy and twelve students are members of

Teresa Tennis Academy. if out of these students a total
9f 13 belong to only one of the two academy then how
m dents belong to both the academy:

59. % R ¥ & #2315 Rardf ukG W @ 2

¥ & T 12 Rendf St Teresa P @edt 3 v ¥
fenfiat & & 13 841 4 A a0 B & @ A
g @ R Rt &9 e @ g #

82 4%
~ N 3&‘]

@) 6
1) @ 6 3) 7 4) 12 @ 12
' 60. Which two Indian sites were granted World Heritage 60. ad 2014 ¥ R 2 Wty et 1 s oitsy = &1 ool
sites in the year 20142 s& fear
(1) The Great Indian National Park & Rani-Ki-Vav (1) & I R% 37 % @& TH-A-am
(2) Western Ghats & Rani-Ki-Vav (2) 9f¥endt ae od wR-Fr-aE
(3) Hill forts of Rajasthan & Jantar Mantar (Jaipur) (3) TR #1 R @ O SR (SgR)
(4) Western Ghats & Rock Shelters of Bimbketa (4) el ae ud B @ i oy
61. All of the other hardware in a computer system 61. FRT dd » @it TER BRI &6 AW o ¥:
connect to S (“ HET @I—é (2) a3q
(2) Mouse (3) Ay (4) -
) Toder () etk
62. Count the number of rectangles in the following figure: 62. Fr=iffaa R ¥ et =) wear & TFT F3:
l .n | 1 - I -
QFI+1414+2+3 4]
| (1) 8 (2) 17 (3) 18  (4) None of these (1) 8 (217  (3) 18 (4) g7 8 FE T
§3. Which country launched the world's first electric 63. BXIE 77 R %1 ween dgd ast g ﬁ oy @ ¥
. aircraft named BXIE recently? P 291 2 e A <
(1) Gemmany | @) ORI e (s T ——
: @) India @ usa® RO @ s @ e
64. From the following diagram find out correct answer for 64. =iy Y@ @ RA w¢ ww & 7@ 3w% o a0

the given question.

Indians who are actors but not singers:

Wb @ c (3 f 4 g
DIRECTIONS: The following are the statistics of some malches
¥ of acrickel team bowlers and the wickets taken.

% of wickels taken

Spinners
Fast
' cowers /40 | 0\
Medium
i tm(—Run outs

65. If the number of wickets taken by fast bowlers is 24,

o o e
75
S o ¥ ey e @ ¥

(1) b @) c
@ f 4) g

Fw: o5 Bée @@ Teanll 3 @ & @ 1@ @ R mg
fakel % 78 oms A fw g #
foe e Pt sftem

Lacilice o
W
e 40|30
mnﬁv_)
s (—wmz

65. I A% oAt g Wt Red # dem 24 B @ aw

the ratio between wickets taken by fast bowlers to e & oy gEt Yo @ wed iU A
other bowlers is: () 45 (223 (3 21 (@ F@ A B TE
| (1) 45  (2) 23  (3) 211 (4) None of these
’ s
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66. Identify the wrong match: .66, WA S B wEEE:

(1) Winner of Monaco Grand Prix 2015 — Nico Rosberg () A A Be 2015 & fswr - e FAtat

(2) 27" Cope Del Rey titie won by — Barcelona @) 273 B 3w T oufy @ R - R

(3) The first country to legalise same sex marriage — (3) wgw R fRawe F qﬂ:fh I T H 9T W A -
Newzeland -

(4) Country who was declared Ebola free in May, 2015 by :

@ % S W, 2015 ¥ e @wa @A w5
A fear mar - aEaRE

@7. CANEUS Organization on space technologies is 67. siafe 7 9 CANEUS Tew &1 JeInd &8 T 87
=
68,

WHO - Liberia

headquartered at: (1) F= (2) T
(1) Canada (2) Europe (3) 3.H.Q (4) of¥Em
(3) USA (4) Asia == T

The diameter of the wheel of a car is 77 cm. How 58, TF T B GRA @ A 77 o B 121 Bl @ g

Jg - revelutions wilit ake to travel 121 km? N F 7 a8 Rt et e’
I, (1) 24200 (2) 30000 FEN ) 24200 (2) 30000
@ w (4) 42500 m 8) 50000 (4) 42500
Q
69. A computer can not “boot” if it does not have the: 69. UH FET ‘¢ A FT v A Preife @t &
) Complier (2) Loader (1) TRt (2) |t
%mratnng system (4) Assembler (3) S freew (4) FH=AT

J/q" 70. To prepare presentation/slide show, which application  70. gy /eds. i B TR B R -8 AT FrEeRr
\Kﬁo“%}: commonly used: 5 o &
/A( (1)%05%&“- (2) Power Point (1) wEe (2) 9faT Q@RE

o ,kAEB) Oytlook Expge;ss (4) Internet Explorer (3) IAREGH o (4) FTER TFRTAIT
Xlo
Ingxipy ! files stands for? 2 71. ‘DLL’ SR« &1 anad #: ;
(1) Dynamictmk Library (2) Data Link Layer (@) D{/namic Link Library  (2) Data Link Layer
29 (3) Dual Link Library (4) Delete Link Layer (3) Dual Link Library (4) Delete Link Layer
|7 72 The Ufa declaration supported which nation to host 72. 2016 # sedl BRICS Rratardl $i Ao@r 5 & Rl Ufa
S
22 the eight BRICS summit in 20167 o F Be 2w B wuee et
(22’/'(, (1) India (2) China e @) A
cux @ B (4) South Africa () F (@) R
73, MS Office is an example of: X . 73. WS Office Ree T% Ao &:
i 1&":’ os.(1) An operating system (1) TH SEEE 9
~\’<1 (2) A telecommunication software (2) & TG dieeaat
—292. (3) Aprogramming language (3) @ St w
(4) A productivity software (4) TH TAREA AFeqaT
74. For celebration of his birthday Ram goes to purchase 74. Wl SR TR 3 R w frewdr @det s # IR
sweets. He needs to buy a mini of 300 pieces of mﬁawmm@mz‘maﬁmmm
rasgulla and 150 pieces of cream roil. Only pre-packed & aawEEd 31 & Al e 3 R 3B # a9 T A
packets are available in the shop for these two items. w5 R A Q%zg & Sue ¥ T8 B % w@ it
These are economy pack & premium pack. Economy ¥ 31 g A5 A 4 w@ 1 #3m A 3 Rrga @
pack has 4 rasgulla and 1 cream roll costing ¥ 25/- per 25 sy ¥% & o e ¥ & 10 mgﬁ w7 A E
pack and premium pack had 10 rasgulla and 7 cream R B 75 U d@e 3 R W B AN IAEEE
roll costing 2 75/- per packet. If he has to meet his fif e F 2 @ I e
requirement with the premium and economy packs, i ﬁ:k w%ln? lm T
what is the minimum expenditure he has to incur?
1) T1575 (2) ¥2100
(1) 21575 (2) 22100 (
(3) 2425 (4) 72975 (3) 72425 (4) 12975
nrcxs [ B-10] PAPER-|[287442]
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75. Details of foreign investments in different banks.

Bank Investment in Million USD
A 0.75
r' B 1.25
Cc 1.80
D 0.90
v E 1.30
F 210
G 1.90
What is the ratio beh 1 total in nt in bank A
and C together to the total investments in Bank E and
G together respectively.
| (1) 51:64 (2) 64:51
‘ (3) 71:64 () 67:71
76. The headquarter of International Olympic Committee is
situated at:
(1) Lausanne, Switzerland (2) Geneva, Switzerland
(3) Zurich, Switzerland (4) None of the above
77. Who will become the first city to host both Summer
Olympics and Winter Olympics?
b (1) Sochi (2) Pyeongehang . .
(3) Beijing (4) Almaty g
78. As per recent approval of Reserve Bank of India, ING

Vysya Bank has been merged with:

(1) KCXCrBank (2) HDFC Bank

(@) WotakMahindra Bank _(4) Stale Bank of India
- e

During the recent Prime Minister’s visit to China

agreement for establishing sister — city relation were

signed between India and China. Three given below

are such agreements while one is not. Identify the one

which is not such agreement:

(1) Chennai and Chongqing
(2) Hyderabad and Qingdao
(3) Aurangabad and Dunhuang
(4) Bangluru and Chengdu

DIRECTIONS: The following question is followed by two
statements. Select the choice as follows.

€ A. If | alone is enough to answer the question
B. If Il alone is enough to answer the question
C. If1& Il are both required to answer the question
D. Ifboth | & Il are insufficient to answer the question and

more data is required.

80. Atthe garage, the car owner was told that adjustments
has been done and it will now give better kilometerage.
Did it improve if:
Conclusion:
|. Before repairs it travelled 120 km. in 10 litres of fuel.
Il After repairs it ran 240 km. on full tank
1) A (2 B
@3 C (4) D

nFexs [

Cthe 7

75, RfeeT o 3 RRA Fa @ Reww ¥

oy fifemw usD #
0.75
1.25
1.80
0.90
1.30
2.10
1.90

%5 Al C D om ag ge Faw @ ¥5 E MG A I
Py & FAT: T YA B

ommoow> 3

(1) 51:64 (2) 6451
(3) 71:64 (4) 67:71

76, sivdte aleies B8 # gered P e 7 Rea ¥
(1) ga, RaeT@s (2) Fra, Raeamws
@) i, fEeTars (4) ¥ [ P T

77 e setes @ S Siehe w@ARE A
FF- T FIT T
(1) | (2) @
(3) @R (4) STHIE

78, Rd ¥o oifs R0 3 oW & B FPAT B FFAR ING 39
¥ o Poed am R gon ¥? | g
() ot Ao, 3 (2) WA =
(3) F¥F W I (4) =g W I

P i e s e T B D A T
g # e A D A v @ A @ A S e
fre-fidt T @it & B 6 S ewmRa R
w»ﬁﬁﬂmmwm%w%mﬁwmﬁ%n
IR e B §H AR B BT A€
(1) = @ SR
(2) ¥eEr @ e
(3) drmEE ©d ggan
(4) e w @Y
Ra v & a7 A Fa R M E R e & 3R B

o F | e e & A wia B

R 2 I A TR 3 R wala

o e | I A ST & R oTReEET B

o e | @ 1 AR geeR & R et § R e
et # e 3

oowm>

80. ﬁaw,mmmﬁmwhmﬂmwm
T & ol @ T resT Reeniex ohaa A e #id gOR
g Ak
Porepd: y
| e A @8 120 R 10 e fa A w

» | e & S A 240 B [ & W AR
(1 A (2) B
(3 C 4) D
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81. Out of a total of 85 children playing Badminton or B81.
Table Tennis or both. Total number of girls in the
group is 70% of the total number of boys in the group.

The number of boys playing only Badminton is 50% of
the number of boys and total number of boys playing
Badminton is 60% of the total number of boys. Number
of children only playing Table Tennis is 40% of the
total number of children and a total of 12 children play
Badminton and Table Tennis both. What is the number

gaes audl A T @ m a AT & @ &
W ¥ wehed 3 g Hen wgEE A @vel A FW wen
1 70% 1 daw Jehie Gut e agH B dEA T TTH
% dem # 50% 3 U4 e AT AW WSH B GO
Fa @l 4 wom B 60% ¥ I M W A A
%@ I A qom W 40% ¥ U W 12 9 P @
2w 2P AT A & weedl R as e & R S daw
Fefire @ W@ &7

of girls playing only Badminton? (1) 16 (2) 14
(1) 16 @ 14 n @ ¥ A 3
(3) 17 (4) None of these
82. Which is an example of input device? 82. Fr=ia & FYF FF W FwE &
(1) Mouse (2) Modem (1) we| (2) Wrew
(3) Monitor (4) crPU (3) HwET (4 @aZ.
83. In the following series how many consonants come 83. Praffag Aof § B 2@ 3 @ v o &
before 3 3A3F4T7U3S3TT3JJ3453DX3XZ3T3H
3A3F4T7U3S3TT3JJ3453DX3XZ3T3H W7 @ 6
M 7 @ 6 @3 s (4) T A F
3 5 (4) None of these
84, How many squares can be formed by joining the  84. miﬂ%%ﬁﬁﬁﬁﬁaﬂﬁm@mmm
center of the circles by horizontal and vertical lines: et Y 39 B @t o R &
o o :
(M s @ B==" (3}10 {4) None of these m e @ 8 (@ 10 @ 8T
g5, One card is drawn at random from a well-shuffled pack 85, 75 Wiy Rierd 7y o SIaeT 3 &% G Aghe ST
of 52 cards. What is the probability that, the card is T WA 31 FEe @ dwiear €, B A @ @ a1 &
either a red card or a king: e BT e
1 7 10
M5 @5 (3 73 (@ Noneofthese M @ Hw ® CRRCR LR A
86. Which zof the following is the correct expansion of 86. ()ﬂ-yi-az)z H e FER M
("V"z:: . +2 (1) xyPayz’+2x’+2xy+2yz+2zx
(1) xy’syz+2xi+2xy+2yz+22x 2 (@)@ xyZ ey e e2xyr2yze2zx
(2) zzxz;y2+x2+2xy+2yz+22x %‘LU}AL P LQ 73 >(3) :Z+yz+zz+2xy+2yz+2zx
=B N i 2304 42 +2 2z 4,57 ¥ i
4) Noneoflﬂeé f'*f* 425 224(_2 7‘}-"
87. ‘Bluetooth’ which is common in mobile phones getsits 87. ‘&% W A B F A G 9w 8, & aw P &
name from: forar T &
(1) Danish 10™ Century King (2) U.K. Software Company (1) R o104 Fgh B (2) 3F. WOEAEE FE
(3) Greek Goddess (4) Google (3) W% (4) T

88. Within how much time from receipt of request for 88.
information concerning life or liberty of a person the
same should be provided under RTI ACT?

(1) 30days (2) 72 hours
(3) 48 hours (4) 24 hours

nrexs [ B-12]

g R ot @ ot Bl @it 3 ol o
A @ e Tl 3 R e wa B B R
g B Wi ¥ SR SRE @ ST e

(1) 30 faT (2) 72 4

(3) 48 &2 (4) 24 ¥
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89.

Match the following in the given sequence in context
of memory:

A. Very High Speed 1. DVD

B. Non-Volatile & high storage 2. ROM

C. External & cheaper 3. Cache

D. Read only 4. Hard Disk

(1) A1,B2 C2, D4
(3) A3,B4,C2 D1

(2) A1,B3,C4, D2
(4) A3,B4,C1, D2

Which one of the following writs can be issued only
against judicial and quasi judicial authorities?

(2) Habeas Corpus
(4) Quo Warranto

(1) Mandamus
(3) Certiorari

DIRECTIONS: (Question No. 91 to 95)

92,

93.

95.

Production of Wheat (Lakh Tonnes)

H = m
50 Punjab up Gujarat Haryana é

45+
40~
35
30

For which of the following years is the produ ."1;
toaverage yearly prodction forthe entire period

(1) 2010 o1

(3) 2012 (4) 2013

The The production of wheat in Gujarat iA_2013 s what
percent less than_the production of wheat in Uttar
Pradesh in 2011:

89.

90.

gy @ ded F R o o F Pl & gif Bt

A afg 3= | 1. DVD
B. f-aiftut ©d 3= Wy 2. ROM
C. @Ed g Fww 3. 3
D. @aw Yad 4. wEfem
(1) A1,B2, C2,D4 (2) A1,B3,C4,D2
(3) A3,B4,C2 D1 (4) A3,B4,C1,D2

frer & @ P90 afm Baw e @ sE-we
afteiall & fes s A o w82

(1) gEaReY (2) = gerefET

(3) IIT aF (4) AR geo1

e (w5 & 91 | 95)
A B I (o o d)

---l:l

31w

92.

o aftamn

2013

2012

0. wﬁ'ﬁ’i’aﬁmmmm-iem%w

2011

Tl Freae ai?
(1)--2010 (2)-2011
(3) 2012 {4) 2013

2013 A o A A R 2011 F SR § W 3
SR & Reae wfera #w 87

(1) 16.66% (2) 0%

(1) 16.66% (2) 0% (3) 40% (4) 74 3 ¢ 7
(3) 40% (4) None of these
Whatiis the difference between the average production 93. &yl %@ ¥ ToRm T @ efarn v ¥ ¥ 3 i
of wheat in the states of Gujarat and Haryana over the IUEH D o fhaen e a9t
sntiepancd: (1) 3,00,000 %7 (2) 5.00,000 %
(1) 3,00,000 Tonnes (2) 5,00,000 Tonnes (3) 45,000 T (4) 77 q 7 @
(3) 45,000 Tonnes (4) None of these
What is the percentage rise in wheat production in 94. 77 ¥ % g1 ¥ 2013 ¥ o ¥ M & oA T e
Gujarat in 2013 over the previous year? e @t afa gd?
(M 25% (2) 20% (3) 0% (4) None of these (M 25% (2) 20% (3) 0% (4) = & 9 7
In which of the following statelstates did the 95. Freiffea ¥ @ fsw T /wedl ¥ ¥ a1 S wdw ad 7
production of wheat increase every year? T’
(1) Punjab ) up (1) 9 (2) STT-wA
(3) Haryana (4) Punjab & Haryana (3) =framm (4) 9org wd gfamn
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GENERAL ENGLISH
96. Pick the correct spelt word.

(1) Stretchar
(2) Stretcher
(3) §tratcher

(4) Strecher

97. Identify which is not adverb from among following underlined words in the given sentences.
She sings prefty well. w He is wise gnough to understand the trick. The ﬂower smells sweet:
(1) Pretty (2) Carefully B

(3) Enough (4) Sweet

98. She said, “oh dear! | have just missed the bus. = S
1) Smmmwe just missed the bus. =
(2) Shes at she had ustmssedlhebus

) S_ma_e:;clmmed_lhal.she-has just missed the bus.
(4) She narrated that she just missed the bus.

DIRECTIONS: Given below are the four spellings of the'same word. Choose the correct one.

99.

(1) Anoynymous (2) Anonemous
(3) Anonymous (4) Annonymous

100. In the following question, four optlons have boon given. IdenMy me option which ha comec! usage of pnpodﬂon p
(1) 1 prefer milk than tea | I e WG =T
(2) He needs a pen to write wlth - ; ) : Ef
(3) Heis il from fever y = =2 i A
(4) He ordered for two cups of tea <3 . P‘_‘,‘,@ s | =
101. Mark the appropriate words to fill in the blank.
It is raining heavily, take ............ umbrella. 2
(1) The g
(2) An ‘ s -
3) A )
(4) Some | 5 B

N B v

it

DIRECTIONS: In the following question arrange the gihn sentences/phrases in a coherent sequence an@se!ed ib&eeuespondmg
choice (1), (2), (3), (4)- troan Cxaites

102. Jumbled sentences/phrases

M Defence personnel was cancelled
N To see the

O Many people did not go

P Republic day parade as

Q The march past by

(1) ONPMQ (2) ONPQM
(3) QPOMN , (4) PNOMQ

103. What is the opposite of “Hapless”?
(1) Kind (2) Significant
(3) Lucky (4) Distinct:
104. What is the opposite of “Worthy”?

(1) Ugly

{2) Undeserving
(3) Valuable

(4) Dishonourable

nrcxsiB—M ] PAPER - 1 [287442]



DIRECTIONS: The words of proverbs and sentences are given in a jumbled manner. If the words are arranged properly, they make
a readable sentence. Pick a choice which gives the correct sequence of words.

105. Burnt, fire, a, child, dreads, the:

1 23 4 5 6 “L; =
(1) 314562 @ 314265
st (4) 248531

106. Pick the correct spelt word.

(1) Cannebalism
[ (2) Cannebelism
L (3) Cannebilism
. (4) Cannibalism

DIRECTIONS: The sentence have been given in active voice. From the given‘altematives, ¢hoose the one which best expresses
the given sentence in passive voice and mark your answer in the answer sheet.

107. A lion does not eat grass, however, hungry he may be:

(1) Crass is not eaten by a lion, however hungry he may be

(2) Grass is not being eaten by a lion, however hungry he may be
¢ (3) Grass is eaten not by a lion, however hungry he may be

(4) Grass is being not eaten by a lion despite being hungry

DIRECTIONS: Against each key word are given four suggested meanings. Choose the word or phrase which is nearest in meaning

to given word.
108. Affront:
(1) Exile (2) Contour

(3) Eruption ) (4) Indignity

108. “ x Wit 'V ey R “ . = R : A
(1) Favorable : f @) Similar
(3) Humble (4) Versatile

DIRECTIONS: Each of the question consists of & sentence with
of English language. [dentify the incorrect part

110, Choose only j Such friends ; That you 4.can trust

four underlined parts, one of which is incorrect as per standard use

(A) ® (©) ©)
(1) A @ B
3) C 4 D

DIRECTIONS: Each of the question consists of a sentence with

four underlined parts, one of which is incorrect as per standard use
of English language. Identify the incorrect part.

111 Had | mlized/your house was ! such a long way off ,_l would take a taxi
. (A) (B) k (C) (D)

M A @ B
@3 C 4 D

DIRECTIONS: The question consists of an idiom followed by four alternative words or phrases giving the possible meaning of idiom.

Select the alternative which gives closest meaning of the idiom. 2

112. In apple pie order:
(1) Lastin the sequence
{2) By government order
(3) Everything in its place
(4) Neatly demolished
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DIRECTIONS: Fill the sentence with appropriate preposition.

113. You can syrely count .............. me:
(1) In (2) Upon
(3) By (4) On

DIRECTIONS: Fill the sentence with appropriate preposition.

114. White ants eat .....c.cee. wood:
(1) Of 2) To
(3) Into (4) In

DIRECTIONS: Fill the sentence with appropriate preposition.

115. Ram died ........co.-. overwork and exhaustion: o
(1) of '»)qn‘g . (2) From
(3) With (4) In

DIRECTIONS: The question consists of an idiom followed by four alternative words or phrases giving the possible meaning of idiom.
Select the alternative which gives closest meaning of the idiom.

116. Feathering one’s nest
(1) Enriching oneself at the expense of public
(2) Buying insurance in time
(3) Taking adequate precaulion against danger
(4) Making a new home

DIRECTIONS: (Question No. 117 to 120) Read the following passage and give the answers of the following questions.

The refusal of British to be a part of European Union (EU) with greater political unification is unfartunate. It does not mean
that one European community with free movement of goods, people and ideas is redundant. Notwithstanding ils economic vows
there is no denying that the fundamental post-national ideal of EU has held, Europe iin-good stead leading to an era of

unprecedented peace and cooperation. There is 3 need to learn from the downturn is that currency union without fiscal union is

flawed. The solution is greater integration and alignment of financial, political and legal structures of member states. The argument
that Europe with its diverse language and cultures cannot survive as a union, doesn't cut ice either. Just like the diversity in India,
there is no reason why the EU cannot fuse into a political union. Having congruence in foreign policy, a ‘Unnedmgf Europ®' is
the next logical step for the common economic bloc; and:if Britain does not join, it stands to be isolated.

117. What is the logic of UK for not joining the/[EU?:
(1) Maintaining its sovereignty and autonomy
(2) Itwill have adverse impact on fiscal growth of Britain .
(3) Its money will be devalued :
{4) 1twill lose its cultural identity '

118. What do you mean by the term ‘does not cut ice either’ in this passage?
(1) To penetrate with a sharp edge
(2) To have a frozen surface of a body

(3) To make no inroads
(4) To have no influence or making no impression

119. What does it mean to convey- the fundamental post national ideal of EU?
(1) Self contained autonomy of nation states
(2) Cultural, demographic and economic integration of member states
(3) Transnational flow of capital, communication and people across Europe
(4) Economic growth and development all member states

120. What is the message the author wants to give in this passage?
(1) Integration will help member states to consolidate their power and supremacy
(2) Fiscal integration is must for Member states

(3) Unity within diversity for member estates
(4) Britain should go for fiscal, political and economic integration
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5.

P - (3). Mixed flow pump
9.

Excess of alumina in the clay: 1.

(1) Makes the brick brittle and weak
{(2)—Makes. the brick crack and warp on drying
(3) Changes colour of the brick from red to yellow
(4) Improves impermeability and durabimy of the brick

When the angular and linear measurements are 2.

équally precise In traversing, the balancing of of a
traverse is done by:
(1) Transit rule

(3) Bowditch's rule

(2) Empirical rule

_@,Simpsons rule

In measuring horizontal angles, the theodolite should 3.

be turned:

(1) Clockwise from the forward station to the back station

[¥3) Clockwise from the back station to the forward station.

(3) Anti clockwise from the forward station to the back
station

(4) Anti Clockwise from the back station to the forward
station

A line joining optical centre of the object glass and the 4.

centre of the eye piece is known as:
(1) Fundamental line
(2) Axis of telescope
(3) Axis of level tube

LﬁlJJ“E of collimation
D_ir_uc_tﬂggnq_is 5 possible only whe
- ‘6- 0Se -_.;‘:* oth mm w

(2) Not more than 100m apart

Mmuallx intervisible

(4) None of these

mﬂm_wmwam 8.
order to ensure that:
(1), Survey work is completed more qungldy
(2) Number of errors is minimum
dg),srrovs and mistakes of one portion do not affect the
remaining portion
(4) None of these

If the ratio of all the corresponding linear dimensions. 7.

are equal, then the model and the prototype are said to
have:

(1) Geometric similarity
(3) Dynamic similarity

(2) Kinematic similarity
(4) Static similarity

Which of the following pump is suitable for small 8.

~ discharge and high heads:
(1) Centrifugal Pump (2) Axial flow pump
(4) Reciprocating Pump

The most efﬂclent channel section is: 9.

(1) Tnangular
(3) Trapezoidal

(2) Rectangular

ymlar
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10. Cohesionless soils are: 10.
J(1)-Sands (2) Clays
(3) Silts (4) Silts and clays

11. Thickened part of the flat slab over its supporting 11.

coloumn is known as:
(1) Coloumn head

(2) Drop panel

(3) Capital

(4) None of these

12 Allqw'able bearing pressure for a foundation depends 12.

on:

(1) Allowable settiement only_
(2) Ultimate bearing capacity of soil
\);)/-Both allowable seftlement and ultimate bearing

(4) Neither allowable settlement nor ultimate bearing
capacity o B

rivet from the edge is kept with a view to preventing

failure due to

(1) Shearing of rivet
(3) Shearing of plate

Moment of Inertia for a circulal

(2) Bearing on rivet

v {4)—Fedring of plate

diameter, is: = EE < Y
(1) 7852 cm’ ¥ o) 53 cm®
(3) 7854 cm’ (4 msesem®

15. The point at which the resultant pressure on

immersed e acts, is known as: { -K_‘_
(1) Centre of Gravity 28 |

(2) Centre of depth 20

(3) Centre of pressure PEXE

(4) Centre of immersed surface ) 80X

16.  Piezometirc hoad is the sum of* | LV oo g
(1) Velocity head and pressure head—_Ir ;
(2) Pressure head and datum head g
(3) Datum head and velocity head ) Ceb
(4) Velocity head, pressure head & 0%

A}
17. The method of traversing in survey ist is i

(1) Measurement of all the angles only 2<

X (2) Measurement of angles and distanges
(3) Measurement of all distances B FED
(4) Measurement of all bearings only.

In a riveted connection, a_minimum distance of the 13

tion has 20cm 14.

. % wEreT g9 @ e A 8

HewEe e §:

M) TIg ™ (2) yfeerer

3 " (4) w= i e

AR R B TR A FeH W g e woww B
(1) e o

(2) I T

(3) ww

@) T & 3

A & fe argie Raftr @ % } Bew w amaie ¥
(1) o FFAT Fede 7w

(2 5% H I faaftr avar w

(3) HTAT Aewre o1 o Rl awar 391 w

(4) 7 T feaive W 9 w0 R awar 91

R s 7 Aemt @ Rie & ~om g0 o @ e
T } B A R @ ¥ B gRe o B

(1) REe &1 e (2) 3 w faf
(3) T F FYEQY (4) = F faffn

20cm M I T T W9 = 2w g o
(1) 7852cm*

() 0 o e o o 3.;«.,-.(20*115
(2) @& 9 T oma g <fyo
(3) o o e 3 o T
‘3:(4)avnﬁé,m&ﬁéammm "'::T;'o’
17. wdwr & s 3 el ¥ 3 5ok
(1) Baw |t T H AT '
@) Bt o g @ ”SXS.IW
(3) T At # A Wl

(4) Fad goe JAER F A

18. The B.M. of a cantilever beam at A shown in the figure 18. RE ¥ 3R MU A T Sdidiax o =7 RS M P:
is:

2T
4T.m D(‘)/'
G- g3
— |
2m 2m
(2) 8Tm
—@r 0Tm (4) 16 T.m
nrexs[B-2]

27 ?,15 2-
4Tm <
S
R . |
2m 2m “

(1) Zero (2) 8Tm
(3) 10Tm (4) 16 T.m /
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19. The discharge through a channel of rectangular 19.

section will be maximum, if:

(1) Its depth is twice the breadth
(2) Its breadth is twice the depth
(3) The depth is thrice the breadth
(4) Its breadth is thrice the depth

20. The hydraulic mean depth for a circular pipe of 20.

diameter (d) and flowing full is:

(1) di6 (2) dr4
(3) di2 (4) d
21. Bernoulli's equation is applied to: i 21.

(1) Venturi meter'
(3) Pitot tube

(2) Orifice meter
(4) All of these

22. The pressure measured with the help of piezometer 22.
tube is in:
[0} kg/cm2 (2 kgim’
3) N/mm? (4) Head of liquid

23. Th(Dpe unit voluma>

temperature and pressure is called:

of a liquid at standard 23.

(1) T T T 9T d gTh @
@) mfvﬁsﬁwﬁmﬁ%%%
(3) T TERE T e A 2
@) st e e T AT B

W (d) P FAOHR 3R T a%E aka 39 a aRw B w6y
e e 2

(1) dé (2) did

(3) dr (4 d

o whEr B w e Rer o @

(1) dgh = (2) ame A

3 gir Aferar @ 3 &k

FrEtear andt e A weEar @ ad 7 aw Free F & ¥
(1) kglem® ) kgim’

(3) N/mm* (4) 7= 3 FrEEEEr

A% WA R @W W o B A g e @ W)
HEIT B:

L{1)—8pecific weight (2) Specific mass (1) Rire 91 (2) Rfre z=mm
(3)“Wass density (4) Specific gravity (3) FAH T (4) R T
24. According to Unwin's formula, the relationship 24. Ffeae g B wgEr Rae B (d) & @ X e @ A
between diameter of rivet hole (d) and thickness of (t) @ dra F1 @9 Fr=r & el o &
gate (O is given by: JH@ d= (2) d=1.6 \t
' @) d=2 4t (4) 0=256 it
m)d—# )d_%’g‘“ - - 555t

25. thn a shaft is subjected to a twisting moment. every 25.
cross section haft will be under:

(1) Tensile stress (2) Compressive siress
dgl_Shear stress (4) Bending stress

26. The shear force of a cantilever beam of length || 26.

carrying a uniformly distributed load of w per unit

lengthis _ atthefreeend.:
T @) wira gﬁﬁﬁ”ﬁ‘

(3) w2 @) wi T @D

27. When a body is subjected to three mutuall& 27.

gerpendicular stresses of equal intensity,
direct stress to the corresponding volumetric strain.is

known as:
(1) Young's modulus

- (3) _Bulic modulus

(2) Modulus of rigidity
(4) Poisson’s ratio

28. mmmwmmamsma 28.

(2) Proof resilience

(3) Impact energy (4) Modulus of resilience

29. The angle of inclination of the plane at which the body 29.

begins to move down the plane, is called: .
(1) Angle of friction

Mle of projection

(2) Angle of repose
(4) Angle of contact

nFexs [ B-3]
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30. A vertical wall is subjected to a pressure due to one 30.
kind of liquid, on one of it's sides. The total pressure on
the wall'acts at a distance from the liquid surface:
(1) H3 (2) H2
(3) 2H3 (4) 3HM4

31. The point, through which the whole weight of the body 31.
acts, irrespective of its position is known as:

(1) Moment of inertia (2) Centre-of gravity
(3) Centre of pressure 4) Centre of mass
32. The forces, which meet at one point and their lines of 32.
action also lie on the same plane are known as:
t for
(2) Coplanar non-concurrent forces =
(3) Non-coplanar concurrent forces
(4) Non-coplanar non-concurrent forces

33. Afine grained soil has: 33.
(1) Low permeability and high compressibility
\&(2)High permeability and low compressibility
(3) Low permeability and low compressibility
(4) High permeability and high compressibility
34. Which one of the following pairs is NOT comrectly matched?  34.
o Pairs is v todsciak

(M
()

35. The maximum area of tension reinforcement in beams ~ 35.
shall not exceed: & -

(1) 0.15% 2) 1.5%
(3) 4.0% (4) 1.0%
36. GauggE!ssurels: 36.

(1) Absolute pressure — atmospheric pressure
(2) Absolute pressure + atmospheric pressure
(3) Atmospheric pressure — absolute pressure
(4) None of these Q:%

37. If the _gravitational ac accelerauon at e is
doubled, the weight weight of a bod!‘ will:
t(1)_Be-reduced to half (2) Be doubled
(3) Not be affected (4) None of these

6 38. Two forces of 6 Newton and 8 Newton which are acting 38.
at right angles to each other, will have a resultant of:

(1) 5Nt (2) 8Nt
—C"Swm) 12 Nt

. 39, chn a bag of lem (1), breadth (b) and thickness (t) 39.
Lge)* €9 is subjected to a push of (P) kg, its:

(1) Length, width and thickness increases

(2) Length, width and thickness decreases

(3) Length increases, width and thickness decreases
t}),l.ength decreasgs, width and thickness inc;;eases

% FEe AR F, IS T W6 T 5 B O« 3 T
& ol @ ST 81 9} B g9 e aE B aae ¥ .

....... 78 W ey ot &:
(1) H3 (2) HI2
(3) 2HR3 (4) 3HM4

78 Rig Rred arem A ¥R v &1 oo afed o @, v &
Ied Rufy $6 @ |, Feaw B

(1) g ampet (2) 64 F%
(3) @ F= (4) ZH9H &%

T 7@, o w B w Bea ¥ o o R A Y st
& oW W & ¢, TeEn &

(1) guaeg S T

(2) HHIE G g

(3) STvEEE | F|

(4) FEFERY FETA T

o A B9 ga 7 Bl 3

(1) =1 qrera @@ 3= adigad
(2) ¥ oI @ Fre aEigg
(@) P oo o e e
(4) T LTI U T= wEdEEa

Frer 3 @ den 7w 0 ¥

O B P IE, et
© .. .. . 9 &
() HAHAMaunssvnnracessruntees 5-FHed
) Loy, W, .. o

g#mwmmmﬁqamm

(1) 0.15% - @) 15% o
(3) 4.0% ) 1.0%
A = B B

(1) Tt E — AR &
(2) Tl a@ + ATy A
(3), FEETT @™ — FEl @

(@) ¥ & ¢ 7d

.o el e B e @R A S R o & Ros
B W
(1) o & Swem (2) g A S

@ B guE T @ (@) 7 A 3T

8 A @ B YT D A AG o THGW I qHH
frareier &, &1 aRomh e

(1) 5Nt (2) 8Nt

(3) 10Nt @) 12Nt

mam#a).dai (b) T AR () D @ 8§ W (P) kg
g B ot @ & seE:

(1) @, mwmm%ma
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40. Gauge width of the standard gauge (BG): 40.

1 (2) 1.5
(3 20 . (4) None of these

41. Hardening of lime under water is due to: 4.

(1) Alumina (2) Iron oxide
(3) Calcium oxide (4) None of these

42. A p_arﬂal? saturated sample of soil has a unit weight of 42.
2.0 glcm” and specific gravity of soil particles is 2.6. If
the moisture content in the soil is 20%, the degree of

saturation is:
(1) 20% (2) 77%
(3) 92% (4) None of these

43. In chain surveying tie lines are primarily provided: 43.
(1) To check the accuracy of the survey

e ts for detail
=d avoid long offsets from chain lines

(4) To increase the number ain fines

44. Load factor is defined as the ratio of: 44,

(1) Average load to maximum load

(2) Average load to the reserve capacity

(3) Reserve capacity to the installed capacity
(4) Average load to the peak load

45. Which of the following scale is largest one? 45, Fr=ofea # @ f9-wr oha wa@ o7
[ i—+cn=100m g (2) (1:42000° (1) 1cm=100m (2) 1:42000

D AmpoE 0 RESM0N . e @) fomzsokm () RE - 1800000
46. PVC stands ford®©2= 46. PVC &1 arad

(1) Polythene vanadium carbide : .'(1) Polythene vanadium carbide .

2 nyl chloride (2) Poly vinyl chloride

(3) Poly vinyl carbide (3) Poly vinyl carbide

(4) Polythene viny! chloride ; (4) Polythene viny! chloride
47, Gypsum congists of a7, P d gk (92

(1) HzSand CO; v €380 and H,0 (1} H:8 T €O, (2) Ca SO4 W@ H-0

(3) Lime and H,0 (4) TOzand calcium (3) T W@ H0 (4) CO, T Bver
48. The representative fraction of the scale 1cm = 100km 48. 1cm =100km W & HiRG SRAFRE Fw@w &

e \ s =
will be: 1 Ao # lﬂﬁp)%-r @ 4
y 1 @ -1 foo 10000 100
10000 100 @ 1 @ 1
1 | A 100000 10000000

@ Jo0000 10000000

49. The most important geometrical form of a truss is: 49. TH 1 FEYS AeAEl Wit weg @ &
N\ Fringle Parallelogram (1) Prerfa (2) o
(3) Trapezoidal (4) None of these (3) Fww =g @) T § F¢ T

50. In a reinforced concrete column, the cross-sectional 50.

area of steel bar is@and that of concrete is Ac The

equivalent area of the section in terms of concrete is
equal to:
QAR LA )
(3) A-mA. (4) Ac-mA
neexs [ B-5]

@t T (BG) A o erd o

(1) 1676 (2 15

(3) 2.0 4) 7% & 3 @
O $ I G H BT B BT den B:
(1) weghe (2) ST sl
@) #faw stz (@) T & 3¢

T OB T RS w9 ¥ Aoy sRed @ g W) 2.0
glem’ B @ y@ 3 & Rire Tewm 2.6 & AR g
AT ABT 20% B, @ woRd @ @ A

(1) 20% 2 7%

@) 92% (4) = & B 7

= 33T # oF aEw T e @ o R
(1) 7 F g 3 ol 3 /A

(2) fowga & g Slfede a0

(3) I TR A Tl AEAT F FHERAT HEN
(4) o AR # Hen § ghs Fo

w1 ors Rred s B w9 oftfe g @
(1) I 9 /A afEaT A%

(2) ofrma WX { d@fafy emar

(3) wiafy emar & s e

@) IFT AR A TH IR

T qaRwT Fie B 7 T B F g s e
s.ﬁij%mzar&%:m%mﬂwﬂﬁxmm

(1) AitmA;
(3) A—mAc

() Act mA;
(4) Ac-mA
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51.

52.

53.

55.

57.

58.

Plain cement concrete is strong in taking:

\L[2)-Eompressive stresses

(4) Bending stresses

(1) Tensile stresses
(3) Shear stresses

The lever arm in a singly reinforced beam is equal to:

m =2 @ =0

(4) None of these

The following methods are used for structural analysis:

1. _Macaulay method

2. Column analogy method

3. Kani's method

4. el ;clions

Those used for indeterminate structural analysis would include
(1) 1and2 (2) 1and3

(3) 2and 3 (4) 23and 4

In a simply supported singly reinforced concrete
beam, the reinforcement is placed:

L=BEToW the neutral axis (2) Above the neutral axis
(3) Atthe neutral axis (4) At corners of the beam

The construction joints in cement concrete: 'T\

(1) Should be located wheremohen—ihrge

Water cement ratio is W
(1) Litres of w ©

(2) Litres of water required per

3) m ofwalerrequimdper of :
{4) m® of water required pérkgofcemenl :

WIS nddod tothe cemerltfor

3) Lowenng the clmkering temperature of oemem
(4 these

Calcareous mngial_ns_ed_Jn,me_mamnmm
cement consnsts of:

(1)_Lime stone
(3) Shells_

{2) Chalk S
(4)-Allofthese

51.

52.

53.

55.

57.

59. The horizontal members of wood or steel used to 59.

60.

rt the common rafter of a sloping roof. are called:
S (2) Cleats
(3) Hip rafters (4) Valley rafters

The process of maintaining or improving the
performance_of a soil as a constructional material,
usually by the use of admixtures, is known as:
(1) Soil exploration (2) Soil stabilization
(3) Soil compaction (4) Soil consolidation

nrexs [ B-6]

T e e fra A} & afts seeg @ 3

(1) T g (2) ddiza aiEa
(3) STUEET Sioae (4) F%7 AfeEw
e wafe el § e gon Fee @ aoae ¥
d=-n 2d-n
= @ =
s @) T & B¢

3

s e 3 fe B Rl = sam B oo @

1. Fa R
2 e orgeva Rl

3. @l R

4. gl & R

afetd deeriers R 3 @R a5 3 P il 8
(1) 172 @ 173 .
(3) 2@ 3 (4 2,374

T lEa: AT Uhe SEea Seie W § Jaed @l S
2

() TR ow 3 @) FRE W B TW
(3) SeErdie i W 4) 9m 3 B w
Hiife e F Pt i

(1) et R B AT ol 9% 3
@ wmm g
(3) Feardt

(4)?13? ﬁizr g&wwmm

w9 e & aeE I o Rreer a B o b
(1) G AT or o He ekt &
mmsmm%m 3 ot ) A feredt
@)ﬁﬁmmwam o #om®

(4) #r?f:%m%w?mm%hnaﬁmsmam“
e 7 R P v R o S g
mwﬁvﬁtaamwmam

@ @E 5 SR w @ Prdf e

@) #e @ § w1 ge

(4) 3 w0

e 3 R § sy dewd woolt § afe o @
(1) T 5 @ ==

(3) Fq (4) 3 &t

Tl 5 3w IR A W [ 3 R w o @
T @ 8w e e &

(1) T 2 T

(3) 9z X (4) T IFT

fomior woER % w9 & ST 9T AfafvEer @ wEeT an gar
P I SIG T aT9El AR S ARE Sear 8

(1) T ST (2) o R
(3) TW HETH (4) WEr @
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s 61. Forceis a: 61. @ orr &

i )
b (1) Scalar quantity (1) afesr e
5 \_{2)-eGior quantity o ()8R

(3) Non Linear equation @) e e

; (4) None of these R T ey o A B
F 62. Dimension of the power is: 62. gt & Ry 2t 2:
r o) M"LZT 2 @ m' 2713 My Mt @ mAr
@ Mt (@ m'LT? @ MLt @ M7LT?
63. The red color obtained by the brick is due to the 63. # % @ {1 R Rermer 2 rer & 2:
presence of: (1) W (2) Tofemr
(1) Lime (@) Silica _43) (4) T AT
(3) Manganese Wi
64. The dog legged stair is a: 64. 2T AT W ?ﬁﬁ 8
w)ﬁfﬁ]m stair (1) ard
2) Quarter tumn stair 2 gsﬁ zﬁrﬂ
(3) Three quarter turn stair (3) &= dra 7 W
(4)xContinuous stair (4) wa ddt
65. An ideal vertical curve to join two gradients, is: 65. A ol B sigA @ R o ot gty = B &
(1) Circular (2) Parabolic (1) T3 (2) v
(3) Elliptical (4) Hyperbolic (3) g (4) fy-gEadt
86. The main constityent of fly-ash, is: 66. TW (fly-ash) @ &4 oremq ¥:
(1) Aluminum oxide (1) g s
2) Siica (2) Pferld
(3 Femous onde @) B AT
N i i e e £
“,;”L'-': " FSE o B
(1) Tri-calcium silicate (1) 3d-Bfaaw Rifede
(2) Di-calcium silicate (2) =r-3femy Rk
< (3}-Tri-calcium aluminate 7 S (3) - ogfme
(4) Tetra-calcium alumino ferrite 5 (4), 2E-ioemE GeyfE B
68. Flow duration curveis the graph drawn between: 68. e i T PR B A S W B
(1) Discharge time (1), P #9
(2) The discharge and the percentage of the time such (2) P o g9E Fi B 98 T o PR 98 o @
discharge is exceeded (3) WA F HgEd &
(3) Cumulative rate of flow (4) vaE # gl oA
(4) Cumulative volume of flow ;
69. Ultimate strength to cement is provided by: 69. HiA= F I g Rewd a FEF B 9 B:
v (1) Tri-calcium silicate (1) E-Hieam fofede
L{2yDicalcium silicate (2) 3R-Pfeam e
(3) Tri-calcium aluminate (3) gR-HRamw
(4) Tetra-calcium alumino ferrite (@) Tm-dfem o Bude
70. Wrought iron contains carbon upto: 70. Tiear der & se H wET Pl 6 o &
1) 025% 2) 1.0% (1) 025% = 2 1.0%
= @) 15% @) 20% @) 1.5% 4) 2.0%
71. In a mortar, the binding material is: 71. M ¥ 9w @ B
i %ement (2), Sand (1) dr (2) ag
(3) Cinder (4) None of these (3) TG~ ~ (4) swﬁ T ¢ Tt
}
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yil

Yy
72. Minimum size of the particles of silt soil, is: {z T TN T B FON F LA FHR T
(180027 mm (1) 0.002 mm
(2) 0.04mm _‘n‘. (2) 0.04 mm
(3) 0.06 mm AL (3) 0.06 mm
(4) 0.08 mm N = e \0\ (4) 0.08 mm

73. A steel cable of 2 cm diameter F_sﬁu_s_ep_gg_!_’_ﬁboard 73. 500nkg % ¢ F I 3 Fe @ 2 AA. W T D

500z kg, Given that the length of the cable is 10 m and BT AT Boar o 1 R ¥ 3w B w10 hex
the value of E=2x10° kgl/cm’, M‘m of the @ E=2x10° kgicm’ 51 3, & 339 = dnfferor a7 A

cable will be: A joo (1) 025 A @ 050 4.
L(11-625Cm @ 050em T (@) 1.00 &4 @) 1= 34,
(3) 1.00cm (4) Y/necm ]eooo‘-‘
74. The azimuth of a line is the: 74. el @ @ Refw 3 —
(1) Clockwise angle that a line makes with the'sodth end (1) aPrmed o st 22 amm B wmPw w3 2Roh
of the selected material liiEdesde i i
(2) Anti-clockwise angle that a line makes with the south (2) A B N B T B W w3 ARt Ry
end of the selected material o 8
(3) Clockwise angle that a line makes with the north end (3) armad @ St B2 w=T B whE T B ow R
of the selected material 9T T
(4) None of these 4) = § B 78 .
75. The tie bars in a concrete pavement are provided in: 75. Al Yo ¥ gaeh B2 W &
(1} Contraction joints  w43)y=EXpansion Joints (1) dge et ¥ (2) Framer sigt &
(3) Longitudinal joints  (4) {Construcnon ]omls> @) ot et A (4) Fmior gt &
76. InaCBRMIWn 76. WL 9. AR, ghewr ¥ AR @ N AW T AT 5 mm w,
thatat 2.5 mm: 25mm e & T
(1) The higher value should be dloseh = ‘f‘f’ (1) &1 59 &1 =i
{2)_Thetest should be repeated (2) THET =T FTN AR
(3) Average value of the two should be used 3) I = dwa & aRa 1
(4) None of these it ' @ FaaEA i
77. Salvaging is: B e S i 77.  ARIfET B ?:
(1) Dumping ofsolidwaste =~ = (1) 3 ¥ B 37 T
(2) Sanitary land filling of solid waste (2) Wide 48 & @M S i S
(3) Composing and soil conditioning (3) FERAT W HaT Frdidifei
(4) Extraction of essence from waste 4y 3w F vz Pepeem
78. A cantilever beam is one which is: 78. 99 €9 38 & S:
(1) Fixed at both ends¢ (1) 2 B X Prm @ o @
\(2)—Fixed at one end and free at other end (2 & Rt 5 Fag 3 3 o gea R 9w e @
(3) Supported at its ends (3) I Rl 9% amafia 3
(4) Supported on more than two supports @ A J ot T ¥ smia ¥
79. Compression.index-on.a sail helps to determine: 78. WWWWWW*W*‘MMQ'
(1) Total time required for consolidation (1) #feT & g s 79 Tog S
(2) Time required for 50% consolidation (2) 50% ®i¥eT & fw oiftrr g &g -
(3) Total settlement of clay layer (3) #itiw WA & q9 FHEE
(4) Pre—consalidation pressure of clay (4) oft F1 gd-wfizT a|
80. If levelling staff js held inclined at a staff station, the 80. IR FaRiM =% H Bl ®I%H R W A7 & ovn & @
reduced level calgui;@ E@ would be: Ao ¥ Rk T @ A
(1) TrueR.L. (1) g= RL
(2) More than true R. L. (2) g& RL#
s than true R. L (3) g& RLE &9
(4) EqualtoR. L. of Bench mark (4) o8 @ RL& T0aw
NrFoxs [ B-8] PAPER-1I_CVIL [260247]



81. A document containing detailed description of all the
items of work (but their quantities are not mentioned)
tgg;egorlwith their current rates is called:

(1) Tender (2) Scheduled of rates
(3) Analysis of rate (@) Absm_esﬁ‘nate.

82. When two plates are placed end to end and are joined
by cover plates, the jointis knownas: ~—  ——
(1) Lap joint
\__(2) Bettjoint
(3) Chain riveted lap joint
(4) Double cover butt joint

83. Curing of concrete can be done by:

(1) Spraying
(2) Ponding

(3) Drenchin.
. (4) E\y of the above 2 !
84. The _process of applying cement mortar Jﬂ&f_
pressure through a nozzle is called:
(1) F‘ressurizir}g_ (2) Prestressing

(3) Guniting_ (4)_Screeding
85. The increase in volume of gry.sand when water is

added to it is called: E
(1) Honey combing SZ-Buiking g O
(3)_Segregation (4) Bleeding
86. The best type of ballast is: - S gy
e T .
( (2) Sandstone
(3) Lime stone (4) Quartzite
87. Fine sand is used as media_in case of:
(1) Slow sand filter (2)" Rapid sand filter
(3) Pressure filter (4) Gravity filter
T SR
8s. wwﬁ .
C(1)—Acteleration (2) Velocity

(3) Momentum (4) None of these

89. Float or slack represent s the difference between the:
(1) Earliest completion time and latest allowable time
(2) Latest allowable time and earliest completion time
(3) Earliest completion time and normal expected time
(4) Latest allowable time and normal allowable time

90. PERT stands for:

(1) Programme Estimation and Reporting Techniques
(2) Programme Evaluation and Review Technique

(3) Planning Estimation and Resulting Technique

(4) Process Evaluation and Reporting Technique

91. The construction of a temporary structure required to
support an unsafe structure is called:

(1) Underpinning (2) Shoring

e(?:)aﬂolding (4) Jacking

Neexs [ B-9 ]

81.

82.

83.

87.

89.

90.

91.

Ffor

Rrega R @i v vt ot kg o & & &,
FET B: -

(1) Rl ) T Irgge

3) T R @) g A

T & AR o T o B oMt o e A A sy
W?,@mﬁiﬁag:

(1) =eE g

) =

(4) 3G AT TFAI T

Bz B B arr i R s w3

(1) %R
(2) SRS
(3) T
@ IGwH P

ﬁm%mﬁm%mm%wﬁﬁmﬁ
afiar Hear B

(1) Frdgm @) Fepfi
(3) TTTEfET (4) e
W-ﬁ:vﬁmﬁhﬂﬁﬂe«%m#mmqh
Feanil o:
(1) Bl ST (2) g
(3) TEFETY 4) Frgaor
Fredt )t ga® aRar ff ad 3
(1) Granite (2) Sandstone.... .
(3) Lime stone (4) Quartzite -
A & & a0 q9d H @ e & Rear o 8
(1) % agg B (2) i g e
@) T s (4) 75 FREE
. vz 3 3 3 oRad 2% & weantt B
(1) @& (2) a7
(3) gam (4) T ¥ B¢ 78

ot s B 3 e @ s oRele st @
(1) Earliest completion time and latest allowable time
(2) Latest allowable time and earliest comﬂetion time
(3) Earliest completion time and normal expected time
(4) Latest allowable time and normal allowable time

PERT & faega &u &:

(1) Programme Estimation and Reporting Techniques

(2) Programme Evaluation and Review Technique

(3) Planning Estimation and Resulting Technique

(4) Process Evaluation and Reporting Technique

Bl orgeia wven @ oade 23 3 R sRi aredt
H= 1 Fmfor e B:

(1) AITgEETr (2) =

(4) S

Q) s

PAPER -1l_CiviL [260247]




92,

93.

95.

The distance beh 1 C.G of comp ion flange and
C.G of tension flange of a plate girder, is known as:

(1) Gross depth
(2) Net depth 3

(4) Clear depth
The Euler's formula for column is valid for:

(1) Zero slenderness ratio

(2) Small slenderness ratio

(3) Large slendemesg ratio

(4) None of these

The working stress is the stress which may be
developed in the member:

(1) Causing structural damage to it
(2) Without causing structural damage lo it

(3) Causing residual strain

A channel consists of:
(1) Two webs

(2) Two flanges
(3) Two webs and two flanges

(_(4)_Oneweb and two flanges

96.

97.

98.

99,

100. The section in which concrete is not fully s

(4) Causing uvlﬂmaterloEd to it

If the width and thickness of a structure is small in
comparison to its length, itis known as:

(1) One dimensional stmdure
(2) Two dimensional structure
(3) Three dimensional structure
(4) Space structure

In a simply supported slab, alternate bars are curtailed
(1) One-fifth of span
(2) One-sixth of span
(3) One —seventh of span
(4) One-eighth of span
When ber is carrying mainly axial loads,
is termed as: -

(1) _St
(3) Tie

e

(2) Column
(4) All of these

The breadth of rib in a T-beam should be at least equal
to of the depth of rib:

(1) One-half (2) One-third
(3) One-fourth (4) One-sixth

39 - 0%

to
the permissible value when stress in steel reaches its
maximum value, is called:

1 er-reinforced section
(2) Over-reinforced section
(3) Critical section

(4) Balanced section

nroxs [ B-10 ]

93.

95.

96.

97.

100.

@ Qe 1 D GheT W D C.6. MK T W9 @ C.G.3
dra 3 gt Feart ¥

(1) wFT T

(2) g& T

(3) T TR

(4) W= g

A D AR T G T B R B @

(1) g3 agm Fge

(2) Y T SFIA
(3) R Eihe il
@ T A i T

FAH sfow 8 i & A v F AR R o W
1) sﬂammmhqgwag
@) @ HETs e e agEm
(3) o Rghy agart 3};
&

(4) 39 sifm T W=
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1) A3 ’
(2) &1 T

(3) & 3 AR A W

(4) TF 39 o7 A w¥er

af Bl wiea 3t e o A mmﬁmi
4 ¥, 7% Teaw s

(1) 5 ol dwemm

2) @ el g

3) @9 e s

(4) g FE

wa;aa:mtmliﬁwwmaﬂ%
o &:

(1) i @ 1/5

(2) Regfi @ 16 =
(3) gl @& A7 :
(4) Ry & 1

T U FE W e W 9T e #C W@ 8, q@
FEar 3:

1 = (2) T

(3) 9% @ 2 3t

% T-gedR ) Ra 3t Aok soh =g 3 #9 A #0....9
I B W

(1) sl (2) w-fier

(3) w-eiré () 16

e B Rred ger &1 aRew A st v o g
ST 8, B A AN b yaia T 8, seemm ¥

(1) o9-wefg Ry

(2) aftr-yafa afede

(3) #ifes e

(4) wgferr o
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101.

The pitch of stair should never exceed:
(1) 20° (2) 25°
(3) 30° (4) 40°

101. S &1 S F B Frer & ot 7 B aRe

(1) 20°
(3) 30°

(2) 25°
(4) 40°

102. In made up ground having a low value of its bearing 102. el 4f &, R aewr af & = W B, wrd wdfea

(3 Eﬂ loo(ing

power, heavy concentrated structural loads are
generally supported by providing:

(1) Combined footing (2) Strap footing

(4) Mat footing

dﬁﬂ;ﬂmwﬁﬁmwhﬁmmﬁmm
ST 8:

103. The coefficient of active earth pressure for 103. HHSHENM arkR FaRll 3 RT Wik gam & s P

cohesionless granular soils is given by:

1+sing 1-sing
O eine @ sine
1+cos 5 ¢
3) e (4) None of these
104. The relation
given by:
® oel3" sy s
3) e= 1—;—" (4) None of these

(1) HgHT 3T (2) Tee% R
(3) W amr (4) ¥ amr
R uT g &:
1+sing 1-sin¢
N e B raing
( Sreemt (@) ¥ A 3
1-cos ¢

between porosity (n) and Void ratio (e) is 104, &{Hal (n) 3l RFR Squm (e) 3 dr &1 sy Feergare :

105. The_longitudinal movement of the rails in a track is 105. 3% F W P ot deww B ama ofe & @ o ¥

107.

v +_(4)—-8mpson's rule

technically known as:

(1) Buckling [__(2) Greeping
(3) Hogging (4) Bending
WE. A gr:

th no tractive

(1) Average gradient
(2) Limiting gradient
(3) Exceptional gradient
(4) Floating gradient

The sum of first and last ordinates, 4dd twido:t% sum
of the remaining/odd ordinatey and/four times the sum
of all the even ordinaﬁs} The total sum thus obtained
is multiplied by one-third of the common distance
between the ordinates and the result gives the
required area. This rule of finding the area is called:

(1) Mid-ordinate rule

(2) Trapezoidal rule )
(3) Average ordinate rule -

— h—

R G L s

@ e--" @) T @ @
() A (2) R

(3) I (4). %1

force is required to 106. X8l oW R T @+ &Rr Rex =@ @ @ @ fe R

% oW B ww @ o, Feen ¥

P Y : T !
(1) e @
) wErprd g
(3) WA FW
(4) A

107. wedl 3T siftm Afedl & 9 #, S R 2 A H
I T T AT B A4 AR T S W TR
<it gt A o gen & o SR 2 de B e g B
113 9 7o R st 8 Si 9Rvm | enifte Sea T @

STl 31 &= G S 48 P s 3
(1) "efes frm

(2) awer s

(3) e A fraw

(4) fergem fray

| 108. Moment of inertia of a triangular section of base (b) 108. 3R (b) 7l F=® (h) 3 Bk wRedz @1, o9 C.G. 3

| 109.

and height (h) about an axis passing through its C.G

WeE § AR AER & §AFieT R A o @ et §

and parallel to the base is: = wEw Myt g @
(1) bh4 ) bhr8 (1) bh¥a () bh’f8
(3) bh%12 . p{4)biT736 (3) bh¥12 (4) bhI36
The gchart which gives an estimate about the amountof 109. 7% =, sit e &1 Re=t @ 49 FPelt yeww 3 w6 &
material_handling_between various work_stations is U A SRIT FIAT 8, Heww 8
known as: (1) @ =@ (2) wiwan =é
(1) Flow chart (2) Process chart (3) gmn =i (4) o =
(3) Travel chart (4) Operation chart
nrexs [ B-11] PAPER - 11 CiviL [260247)



‘] 115. The s

110. The useful method of finding the shear strength of 110. 3T Wiies THon Al H Awwqwr awed o @ &l
IR

very plastic cOhesive soils is by means of:
(1) Cone test

(2) Penetration test

(3) VANE shear test

(4) Torsional shear test

111. Which of the fol highly pe le?

,_,?)/G._fl"';f (2)_sit
3) Coarse sand (4) Clay

A———

112. The property of a soil which is of great importance in

finding settlement of a structures, is:

(1) Permeability (2) Shear strength

(3) Consolidation (4) Compressive strength
13 Sikisa;

(1) Fine grained soil wnth little or no plasticity

(2) Clay with a high percenfage reentage of Ihe cléz mineral

) Material deposited by a glacier
(4) Soircomposed of wo diffel dT\‘fe’?é'rﬂonls

114. The tog of the ground on which the foundation of a_

road rests:
(1) Subg

(2) Soiling
(4) Bearing layer

aerobic

© (2) Tricking filt
(4) All of these

(1) Seﬂﬁngtanit
(3) Oxidation pond

116. In secondary treatment of sewage the operation which
take places:
(1) Removal of heavier suspended inorganic material
(2) Removal of fine dissolved organic material
(3) Removal of harmful bacteria
(4) All of these

117. The method adopted for removing bushes, branches
and debris etc from water is known as:

(1) Sedimentation
(3) Screening

(2) Coagulation
(4) Filtration

118. Dissolved impurities consists of:

(1) Bacteria (2) Organic substances
(3) Silt_ (4) Fungi

119. The water bearing strata is called:

(1) An aquifer (2) An aquiclude
(3) An aquifuge (4) Zone of saturation

120. A hydrograph representing one cm of runoff from a
rain fall of some unit duration and specific area
distribution is known as:
(1) Hyetograph
(3) Unit hydrograph

(2) Flood hydrograph
(4) S- Hydrograph

NFexs [B-12]

111,

112.

113.

114.

115.

116.

17

118.

119.

120.

R Fre arr ara @ 2
(1) B gdiEer
(2) Sfeee TR
(3) VANE HU&qeT qiiemr
(4) = agmger giEr

e & @ 919 I T 27

(1) = () =

(3) 94 =" (4) i

TR FH T8 Y, A w3 R & @ R 3 R
agd #ar 8, :

(1) 9rErgar (2) IrgEq el

(3) (4) "= g

Tz Bt

() W WA TR g e oew gen Rege 9@
e A &

2 Hfce e # gea A= A gE g

(3) feumg amy d@fea qoeht

(4) B B memet & e g

9 = e B w age @t Afa RN b B, Fearh ¥

(1) 99 ¥z (2) Rt
(3) ST (4) 9% T

Heor B P 7 awgeier siar B R daea R o 2
(1) femm & (2) U =S
(3) AFHHT d (4) 3 54t

Hee 3 fadias SUER 89 g SaeE B 8

(1) s w8 FPeifea see et gemr
(2) wém focim & |rolt & e

(3) AP e S semr

4 A wft
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